Revaluation of Fixed Assets

Under the principle of Conservatism when a Fixed Asset increases in value this increase must be reflected in the value of the business by increasing the value of the owners investment. This is done through a Revaluation Reserve account in the Financed By section of the Balance Sheet.

eg. A business buys Premises for £100,000 in January 1995 and decides to depreciate 2% of cost per annum. At the beginning 1998 the business is told its Premises are now worth £150,000. 

Each of the first 3 years the depreciation expense will be £2,000 and will be stored in a Provision for Depreciation of Premises account, a negative Fixed Asset. So at the start of the 1998 there will be £6,000 accumulated in the Provision account. The value of the Premises at that date would thus be not £100,000, but £94,000. 

So when revaluing, the Premises will have to increase by £56,000. This is done in two ways:

(1) by increasing the Fixed Asset account from £100,000 to £150,000 (Dr Premises £50,000)
(2) by cancelling the Provision for Depreciation balance (Dr Provision £6,000)

The corresponding Credit entry in the Journal is in the Revaluation Reserve account.

When calculating the Depreciation for 1998 it will be based on the new value, ie 2% of £150,000 = £3,000.


The Balance Sheet over the four years reads as follows:

£ COST £ DEP £ NBV

1995 Premises 100,000 2,000 98,000
1996 Premises 100,000 4,000 96,000
1997 Premises 100,000 6,000 94,000
1998 Premises 150,000 3,000 147,00

